et EXO0

X4 ERHPEERREGER/NEEZPRSHETIE-BR: 4F (KKRI1BE:4F->4F)

PNA21-01-#&28: 4F, #4X5%: ST1, SIB % 2 [X7:+119,Y23:+539] , #E: 187.5 cm, k= 16.8, #iE: 26, B4 &

12, ¥ & 371.4654 cm
HERE: 371.47=FA185%(16.8%16.8+26*26 )[R %112

#5 LimiR - B M #5 FIniREh-EREEmE = (371.47++[{BERELJ)46*2)" [HESK] | 88.06
S (Int(187.5/10)+1)/100= 88.06 M

#5 LimBh-E B M #5 LimBhi-E R m = [EAIEE](187 .5+ [+ EfaLdh 56.34
| +A1](16+21.9)*1)*[HEEK](Int((371.4654/15)+1)/100= 56.34 M

#5 TlRRA-EEERE | (371.47++[{BHRELIM46"2) S (Int(187.5/10)+1)/100 88.06

#5 yotyR 3= ok [EEAIH5HE] (187 5+ IR+ L dh+A1](16+21.9)*1)* 56.34
| [HEB(Int((371.4654/15)+1)/100= 56.34 M

BiREE:

R (EHE) = 371.47*187.5/10000= 6.96 M2
IR (3I48) = 187.5*16.8*12/10000= 3.78 M2
AR (18138 £ 858)= 371.47*25%1/10000= 0.93 M2
HERR (545 {A138 -3 BE538) = (16.8%26/2)*12*1/10000= 0.26 M2
¥R /it = 6.96+3.78+0.93+0.26+0.00= 11.94 M2
RC:tH&E:
RC($1kR) = 371.4654*187.5*25/1000000= 1.741 M3
RC(B&##) = (16.8*26/2)*187.5*12/1000000= 0.491 M3
RC /et = 1.741+0.491+0.000= 2.233 M3
-------------- R R 0] N ——
Mt EHER:
#5=288.794 M (288.794 M*1.560/1000= 0.4505 T)
$ARR/INET = 04505 T
AR/EH(E )= 11.94 M2
iEstt /e =2.233 M3

PNA21-01-#&f8: 4F, #4X5%: ST1, IBFEHE: 1 [X6:-194,Y23:+578] , #E: 187.5 cm, fk=: 16.8, #E:

13, #&: 402.4209 cm
AR E: 402.42=RA1R5%(16.8*16.8+26*26)*[F& k)13

26, L

#5 LA LB R E #5 LiniREH-EBE R = (402.42++ 1B RELJ)46*2) [HEER] | 93.94
— (Int(187.5/10)+1)/100= 93.94 M

#5 LinBh - m A #5 L InEhA-E R m A= [ AENE] (187 5+ [E M+ E4aLdn 60.85
| +A1](16+21.9)*1)*[#E£K](Int((402.4209/15)+1)/100= 60.85 M

#5 TimiR - EE R R (402.42++[{EFF R EELd]46*2)* [#E2](Int(187.5/10)+1)/100 93.94

#5 TimEhin-E B m R [EE (A (187 .5+ [ +E L dh+A1](16+21.9)*1)* 60.85
| [HE](Int((402.4209/15)+1)/100= 60.85 M

BIRETE:

R (EAE) = 402.42*187.5/10000= 7.55 M2
HRR(3I4%) = 187.5*16.8*13/10000= 4.10 M2
AR (181328 £ 858)= 402.42*25%1/10000= 1.01 M2
TR (B 45 {8138 - 31 B8 538) = (16.8%26/2)*13*1/10000= 0.28 M2
¥R /et = 7.55+4.10+1.01+0.28+0.00= 12.93 M2
RC:tH&E:
RC($#}kR) = 402.4209*187.5*25/1000000= 1.886 M3
RC(F4) = (16.8*26/2)*187.5*13/1000000= 0.532 M3
RC /&t = 1.886+0.532+0.000= 2.419 M3
-------------- H R K9] N —
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St ERER:
#5=309.571 M (309.571 M*1.560/1000= 0.4829 T)
ARR/INET = 04829 T
HBAR/NVET ()= 12.93 M2
SR NET = 2.419 M3
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